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1. f : A → B を写像とし、Y ⊂ B とするとき、

f−1
(⋂

j∈J

Yj

)
=

⋂

j∈J

f−1(Yj)

を証明せよ。

a ∈ f−1
(⋂

j∈J

Yj

)
⇐⇒ f(a) ∈

⋂
j∈J

Yj

⇐⇒ ∀j ∈ J, f(a) ∈ Yj

⇐⇒ ∀j ∈ J, a ∈ f−1(Yj)

⇐⇒
⋂

j∈J

f−1(Yj).

2. f : A → B を写像とし、Y ⊂ B とするとき、

f(f−1(Y )) = f(A) ∩ Y

を証明せよ。

b ∈ f(f−1(Y )) ⇐⇒ ∃a ∈ A,
(
(a ∈ f−1(Y )) ∧ (b = f(a))

)

⇐⇒ ∃a,
((

a ∈ A
)
∧

(
f(a) ∈ Y

)
∧

(
b = f(a)

))

⇐⇒ ∃a,
((

a ∈ A
)
∧

(
b ∈ Y

)
∧

(
b = f(a)

))

⇐⇒ ∃a,
(
(a ∈ A) ∧ (b = f(a)) ∧ (b ∈ Y )

)

⇐⇒
(
b ∈ {f(a) | a ∈ A}

)
∧ (b ∈ Y )

⇐⇒ b ∈ f(A) ∩ Y.

3. f : A → B, g : B → C を写像とし、g ◦ f は単射とするとき、f も単射であることを
証明せよ。
∀a ∈ A, ∀a′ ∈ A に対して、

f(a) = f(a′) =⇒ g(f(a)) = g(f(a′))

⇐⇒ (g ◦ f)(a) = (g ◦ f)(a′)

=⇒ a = a′


